Whitman College

Econ 358

Final Exam Part II

May 8, 2001

 

 

Write all answers in your blue book. Show all of your work. 

 

 

 

 

 

1. (20pts) Suppose that the Capital Asset Pricing Model assumptions hold. Explain as thoroughly as possible whether the following statement is true or false. " A risky security cannot have an expected return that is less than the risk-free rate, because no saver would be willing to buy this asset."

 

 

 

 

3. (25pts) Suppose that the Capital Asset Pricing Model assumptions hold. Consider the risky project described below, and the following information about some of the many securities available for purchase. 

	Period
	Expected Benefits
	Expected Costs

	0
	$0
	$50

	1
	10
	20

	2
	100
	20


 

The covariance of the project with Security A is 0.02.

The covariance of the project with Security B is 0.01.

The covariance of the project with Security C is 0.04.

The covariance of Security D with the market portfolio M is 0.02.

The covariance of Security E with the market portfolio M is 0.01.

The covariance of Security F with the market portfolio M is 0.04.

The covariance of the project with the market portfolio M is 0.01.

 

Suppose that the risk-free rate is 5%, the expected return on the market portfolio is 10%, and the variance of the market portfolio is 0.04. Calculate the net present value of the project, and explain your work. Should the project be undertaken?

 

 

 

 

3. (a) (10pts) Define each of the three forms of the efficient markets hypothesis (EMH).

 

(b) (10pts) Consider people who pour over charts of a stock's past price in order to forecast its future price. Someone who does this is called a chartist. In which forms of the EMH do chartists believe? Explain.

 

 

4. Suppose that the Modigliani-Miller Proposition I assumptions hold. 

 

(a) (3pts) List these assumptions.

 

Consider the following information on Firm A. The market value of Firm A's assets is $500,000. The firm has no debt, and pays out all of its earnings as dividends. There are 100,000 shares of its stock outstanding. There are three possible outcomes: recession, normal and expansion. A recession occurs with a 20% probability, normal times occur with a 60% probability, and an expansions occurs with a 20% probability. The firm's profits are $25,000 in a recession, $50,000 in normal times, and $100,000 in an expansion. The firm can borrow and lend at a 10% interest rate.

 

(b) (2pts) What is the firm's dividend in each outcome?

 

(c) (2pts) What is the firm's expected dividend?

 

(d) (2pts) What is the expected return on equity?

 

(e) (2pts) What is the expected return on the firm as a whole?

 

 

Management is considering a proposal to issue enough debt to buy back and retire 40,000 shares of stock.

 

(f) (2pts) What would be the firm's dividends in each outcome? 

 

(g) (2pts) What would be the firm's expected dividend?

 

(h) (2pts) What would the return on equity be in each outcome?

 

(i) (2pts) What would be the expected return on equity?

 

(j) (2pts) What would be the expected return on the firm as a whole?

 

(k) (14pts) Describe a homemade leverage strategy that provides the same return in each outcome as the leverage strategy management is considering. Show that you receive the same return in each outcome.

 

